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(1) Total Marks is Given in the Opposite side of question.
(2) Draw neat and Labelled diagram where necessary.

Total Marks:70

Q.1 Multiple Choice questions. 10

(1) Amoeba include in the Phylum
{a) Protozoa {b) Porifera (c) Arthropoda (d) Mollusca
(2) The cavity in the body of Hydra is called
(a) Haemocoel {b) Hydrocoel {c) Coelom (d) Coelenteron

{3) disease is Caused by Plasmodium
(a) Chikungunya (b} Filariasis (c) Malaria (d) Taeniasis
(4) Number of Setae are Present on each Segment of Earthworm.

(a) 80-120 (b} 90-120 {c) 100-120 {d} 110-1120
(5} The spermatozoa of earthworm store are
{a) Ova (b) Sperms {c} Ovary (d} Zygote
{6) teeth are located in the Gizzard of the Cockroach.
{a) 06 (b} 05 (c) 08 (d) 03
(7} Female Cockroach does not have
(a) Anal style {b) Anal cerci (c) Wing {d) Antennae
(8) In Insects the Juvenile hormones is secreted from
(a) Corpora Cardica (b) Prothoracic Gland (c) Corpora Allata {d) Corpora Adipose
(9) Dentalium is used as
(a} Bait (b) Natural dye (c) Medicine (d) Ornaments
(10) Balanoglosus is also Knows as
{a) Hook worm {b) Tongue worm {(c} Pin worm (d} Tape worm
Q.2 (a) Fill in the Bank 04
(1} Mode of Nutrition in Amoeba is .
(2) The body colour of the earth worm is Glistening .
(3} The Salivary gland of Cockroach produce juice Containing Enzyme.
(4) The amount of Calcium Carbonate in pearl is
{b) The following Sentences are true or false. 04
(1) hydra reproduce asexually by budding.
{2) Pheretima posthuma is a marine Erathworm.
(3) Cockroaches have three pairs of testes.
(4) Ink of Cuttle fish provides a rich brown pigment called “Sepia” which is used by artists.
Q.3 Answer the following Question {Any ten). 20
(1) Write on note on Pseudopodia in Amoeba.
(2) What is Phototaxis (response to light) reaction Behaviour in Amoeba.
(3) Give a function of Gland Cell of Hydra.
(4) What is Regeneration in Hydra.
(5) Explain the diagnosis of filariasis, a disease caused by filarial worms.
(6) Give Location and Function of Typhlosolar region of Earth worm.
(7) Give an Economic Important of Earth worm.
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8) Write note on Coelom in Cockroach.

9) Short note on Malpighian tubules of Cockroach.

(10) Short note on Problem of pearl industry.

(11) Write the function of water vascular system of Echinoderms,
{12)

12) Write the habhits and habitat of Balanoglosus.
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Q.4 Answer any four questions of the following eight questions. 32
(1) Describe the Binary fission reproduction type in Amoeba,
(2} Describe different type of Locomotion in Hydra. i
(3) Describe Pork Tapeworm. {(Taenia solium)
(4} Describe the Digestive system of Earthworm.
(5) Describe the reproductive system of Male Cockroach.
(6} Describe the Metamorphosis in Insects.
{7) Write a note on Beneficial Mollusca.
(8} Describe the Food, Feeding and Digestion in Balanoglosus.
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